Which one of the following is not applicable for electronic mail (Email) ?

(1) Itcan be sent anytime to any number of recipients.

(2) It provides communication in real time.

(3) One has to register with an email service provider to exchange email.
(4) An existing file can be sent as an attachment which the email.

Options :

212807126777. 1
212807126778. 2
212807126779. 3
212807126780. 4

Question Number : 365 Question Id : 21280731695 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
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Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
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Which out of the following is not the application of stacks ?
(1) Parenthesis balancing

(2) Tracking of local variable at run time

(3) Analyzer for compiler syntax

(4) Transfering of data between two asynchronous processes

Options :

212807126781. 1
212807126782. 2
212807126783. 3
212807126784. 4

Question Number : 366 Question Id : 21280731696 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :
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Options :

212807126781. 1
212807126782. 2
212807126783. 3
212807126784. 4

Question Number : 367 Question Id : 21280731697 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ2

It is taken that enteries that are made in stack are considered “ordered”. What does this imply ?
(1) You can sort the collection of stack

(2) The enteries made in the stack can be compared by ‘<’ operation

(3) Enteries made are sequential that is one by one

{4) Resource allocation in stack

Options :

212807126785. 1
212807126786. 2
212807126787. 3
212807126788. 4

Question Number : 367 Question Id : 21280731697 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

IKey Value
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|C0mprehensi0n |MCQ2
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Options :

212807126785. 1

212807126786. 2

212807126787. 3
212807126788. 4

Question Number : 368 Question Id : 21280731698 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key 'Value
Comprehension MCQ2

Which one of the following is not related to stack ?

(1) PUSH

(2) POP

(3) FIFO

(4) LIFO
Options :

212807126789. 1
212807126790. 2
212807126791. 3
212807126792. 4

Question Number : 368 Question Id : 21280731698 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ2
Freq 6 & 9 @ Vo 8 deifwg 78 § 2
(1) PUSH
(2) POP
(3) FIFO
(4) LIFO
Options :

212807126789. 1
212807126790. 2
212807126791. 3
212807126792. 4

Question Number : 369 Question Id : 21280731699 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :
|Key Value
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[Comprehension IMCQ2

The postfix for a string is ABC + —D*, the actual string will be :
(1) (A-(B+C)*D

(2) (A-B)+QO)y*D

3) (A+B)-QO*D

49) (A+(B-C)*D

Options :

212807126793. 1
212807126794. 2
212807126795. 3
212807126796. 4

Question Number : 369 Question Id : 21280731699 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ2

U T o efF ABC + — D* & o $HeRT S1e ST 0 @m 2
(1) (A-(B+O)yD
2) (A-B)+C)*D
(3) ((A+B)-C)*D
(4) (A+((B-Q)D

Options :

212807126793. 1
212807126794. 2
212807126795. 3
212807126796. 4

Question Number : 370 Question Id : 21280731700 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ2

The operation is used to insert a new element at the front of the deque.
(1) InsertRear

(2) InsertFront
(3) DeletionFront
{4) DeletionRear

Options :

212807126797. 1
212807126798. 2
212807126799. 3
212807126800. 4

Question Number : 370 Question Id : 21280731700 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

|Key Value
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IComprehension IMCQ2

deque B TTHA T e A1 SgA & Fore Forg STTAReE 1 s0HIt Gl 1

(1) InsertRear

(2) InsertFront
(3) DeletionFront
(4) DeletionRear

Options :

212807126797. 1
212807126798. 2
212807126799. 3
212807126800. 4

Question Number : 371 Question Id : 21280731701 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ2

Which of the following is not true about queue ?

(1) It follows the principle of First In First Out (FIFO)

(2) It follows the First Came First Solved (FCFS) approach

(3) In queue most recent element will be the first one to delete
(4) Insimple queue elements get added from the rear end

Options :

212807126801. 1
212807126802. 2
212807126803. 3
212807126804. 4

Question Number : 371 Question Id : 21280731701 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key 'Value
Comprehension MCQ2

et 6 @ 9 W Y queue F AR H W AE B?
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Options :

212807126801. 1
212807126802. 2
212807126803. 3
212807126804. 4

Question Number : 372 Question Id : 21280731702 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

s collegedunia:

-



Key Value
Comprehension MCQ2

In queue following operation are performed enqueue(10), enqueue(20), enqueue(15), dequeue( ),
enqueue(25), enqueue(35), dequeune( ), dequeue( ), what is the final content of queue.

(1) 1512535

(2) 10| 20

(3) 25| 35

(4) 10 25| 35
Options :

212807126805. 1
212807126806. 2
212807126807. 3
212807126808. 4

Question Number : 372 Question Id : 21280731702 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ2

F (quene) F FEAA $HeZ F 87 IR Th 7 (quene) § A F QT T T W enquene(10),
enqueue(20), enqueue(1d), dequeue( ), enqueue(25), enqueue(35), dequeue( ), dequeue( ).

(1) 15125135

2) 10| 20

(3) 251 35

(4) 10 25| 35
Options :

212807126805. 1
212807126806. 2
212807126807. 3
212807126808. 4

Question Number : 373 Question Id : 21280731703 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ2
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A normal linear queue, if implemented using an array/list of size LIMIT, gets full when :
(1) front=rear+1

(2) rear=front

(3) front= (rear + Y% LIMIT

(4) rear=LIMIT -1

Options :

212807126809. 1
212807126810. 2
212807126811. 3
212807126812. 4

Question Number : 373 Question Id : 21280731703 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ2
% e s # (quene) W WYToRE LIMIT €SS <6 S0 S 6t g o s A

(1) front=rear+1

(2) rear=front

(3) front= (rear +1)%LIMIT
(4) rear=LIMIT -1

Options :

212807126809. 1
212807126810. 2
212807126811. 3
212807126812. 4

Question Number : 374 Question Id : 21280731704 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ2

Let us consider for an Algorithm A, a nested loop and also a single loop is present what would be
the time complexity for algorithm A ?

(1 1
(2) n
(3) n?
(4 n’
Options :

212807126813. 1
212807126814. 2
212807126815. 3
212807126816. 4

Question Number : 374 Question Id : 21280731704 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :
IKey Value
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|C0mprehensi0n |MCQ2 |
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1 1
(2) n
(3 n?
4 =’
Options :

212807126813. 1
212807126814. 2
212807126815. 3
212807126816. 4

Question Number : 375 Question Id : 21280731705 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ2

In bubble sort algorithm, every iteration through each element of a list is called ?
(1) Return

(2) Mate

(3) Pass

(4) Sort
Options :

212807126817. 1
212807126818. 2
212807126819. 3
212807126820. 4

Question Number : 375 Question Id : 21280731705 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ2

wet We Novikerd A, gt & el de % wean @ Yedw TR el e &
(1) T&F (Return)

(2) e (Mate)

(3) U™ (Pass)

(4) ¥E (Sort)

Options :

212807126817. 1
212807126818. 2
212807126819. 3
212807126820. 4

Question Number : 376 Question Id : 21280731706 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
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Question Key Details :

Key Value
Comprehension MCQ2

Consider a list of elements 8, 7, 3, 4, 1, 9 and perform the insertion sort in ascending order. Which
of the following intermediate list occur during sorting.

(A) 7,83,4,1,9

(B) 7,3,84,1,9

() 3,4,7,81,9

(D) 7,3,481,9

() 1,7,3,48,9

Choose the correct answer from the options given below :
(1) (A) only

(2) (A), (D) and (E) only

(3)  (B), (C) and (D) only

(4)  (A), (B) and (C) only

Options :

212807126821. 1
212807126822. 2
212807126823. 3
212807126824. 4

Question Number : 376 Question Id : 21280731706 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ2

foree & 399y 8,7, 3, 4, 1, 9 W Targr &Y it s1dd 9 g gagdd 9id & yefda &Y frer 4 9w @
wifén & S wrerad foree s

(A) 7,8,3,41,9

(B) 7,3,84,1,9

(C) 3,4,7,81,9

(D) 7,3,4,81,9

(B) 1,7,3 489
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(1) W (A)

(2) &9 (A), (D) ¥ (E)

(3) % (B), (C) 3 (D)

(4) A (A), (B) 3 (O)

Options :

212807126821. 1
212807126822. 2
212807126823. 3
212807126824. 4

Question Number : 377 Question Id : 21280731707 Question Type : MCQ Option Shuffling : No Is Question Mandar
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Q
llegedunia:
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Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ2

Which sorting algorithm works by continuously swapping the adjacent elements ?
(1) INSERTION SORT

(2) SELECTION SORT

(3) BUBBLE SORT

(4) QUICK SORT

Options :

212807126825. 1
212807126826. 2
212807126827. 3
212807126828. 4

Question Number : 377 Question Id : 21280731707 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ2

I o wifen oo sirast ol Sl ThTaR SIT-—agel Hih HIH il ¢ |
(1) A9ET | (INSERTION SORT)

(2) s i (SELECTION SORT)

(3) et W (BUBBLE SORT)

(4) Toass ¥ié (QUICK SORT)

Options :

212807126825. 1
212807126826. 2
212807126827. 3
212807126828. 4

Question Number : 378 Question Id : 21280731708 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ2

Which two constraints when applied together will produce a primary key constraint ?
(1) Primary key, Default

(2) Not NULL, Unique

(3) Unique, Default

(4) Primary key, Foreign key

Options :

212807126829. 1
212807126830. 2
212807126831. 3
212807126832. 4
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Question Number : 378 Question Id : 21280731708 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ2
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Options :

212807126829. 1
212807126830. 2
212807126831. 3
212807126832. 4

Question Number : 379 Question Id : 21280731709 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ2

Which of the following statements are true ?
(A) Where condition in SQL can include aggregate functions.

(B) Having condition in SQL can include aggregate functions.
(C) SQL set operators tend to combine columns from two or more tables.

(D) GROUP BY function is used to group rows of a table that contain the same values in a
specified column.

(E) Minus operator is also known as intersect operator.
Choose the correct answer from the options given below :
(1) (A)and (C) only

(2) (©) and (E) only

(3) (B) and (D) only

(4)  (A), (€) and (E) only

Options :

212807126833. 1
212807126834. 2
212807126835. 3
212807126836. 4

Question Number : 379 Question Id : 21280731709 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ2
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(A) SQL ¥ Where %few Witz G wifidar T w6 8

(B) SQL ¥ Having %fevH wiiiie waa wfirer %t wad §1

(C) SOQL d2 1fret & 1 &1 & afirss aferaredl & wloli = weiforg el €1

(D) GROUP BY W9 =1 Iu=inT wifersm w1 w1 wmgfass &ed % fore oo s 8 <t Pfde wiv §

o g F Sedt #1
(F) WIETY R Ht ol oiifey & ®9 H of S S B
A4 feu foreredl § @ wd s 97

(1) = (A) 3l Q)
(2) FEe (C) 3 (B)
(3) e (B) 3R (D)
(4)  FEd (A), (O) R (B)

Options :

212807126833. 1
212807126834. 2
212807126835. 3
212807126836. 4

Question Number : 380 Question Id : 21280731710 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ2

Match List - [ with List - IL

List -1 List - IT

(A) Alter (Iy  eliminate repetition and display the value only once
{(B) Update (I)  pattern matching

(C) Distinct (Il modify existing data in the table

(D) Like (IV) make changes in the structure of the table

Choose the correct answer from the options given below :
(1) (A)(ID, (B)-(I), (O)-(IV), (D)~(I)
(2)  (AHIV), (B)-(1D, {(O)-(I), (D)-(II)
(3) (A1), (B)-(IV), (O~(1D), (D)~(II)
(4) (A1), B)-(D), (OIID), (D)(IV)

Options :

212807126837. 1
212807126838. 2
212807126839. 3
212807126840. 4

Question Number : 380 Question Id : 21280731710 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

|Key Value
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IComprehension IMCQ2
Geil-1 | GeAl-11 w1 fiedr i
-1 Hft-11

(A) ey () 2revd w guE R Faa uw a9 ar yeifa w3
(B) smge an e = e

(O Tedmr {11y afer § deg 2o o weifua wi

(D) EH (Iv) arfersst 1 g 8 uftadT ot

H9 few e fawedi § 4 W98 39 w1 2 Sifen .
(1) (A)ID, (B)-(1I), (O~(IV), (D)-()

(2)  (A)IV), (B)-(IID), (O)-(D), (D)-(I)

(3)  (A)D), (B)-(IV), (O«(1D), (D)«(1IT)

4) (A, (B)-(D), (O-IID), (D)-(IV)
?l[;t;gl;sl2:6837. 1

212807126838. 2

212807126839. 3
212807126840. 4

Question Number : 381 Question Id : 21280731711 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ2

HAVING clause in SQL is used to specify conditions on the rows with
(1) where clause

(2) order by clause

(3) from clause

(4) Group by clause

Options :

212807126841. 1
212807126842. 2
212807126843. 3
212807126844. 4

Question Number : 381 Question Id : 21280731711 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ2

SQL & HAVING A 1 397 el w + @y ol =t Ffde e & fere fpan o &)

(1) where clause
(2) order by clause
(3) from clause

(4) Group by clause

Options : .
gcollegedunlag
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212807126841. 1
212807126842. 2
212807126843. 3
212807126844. 4

Question Number : 382 Question Id : 21280731712 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ2

Consider the following statements :

(A) Each attribute in a relation has a unique name

(B) All data values in an attribute must be from the same domain

{C) A special value NULL is used to represent values that are unknown

(D) A database constraint allow different types of data to inserted into the table
Choose the correct answer from the options given below :

(1) (A), (B) and (C) only

(2) (A) (B) only
(3) (A) (©), (D) only
(4)  (A) (B), (C) and (D) only

Options :

212807126845. 1
212807126846. 2
212807126847. 3
212807126848. 4

Question Number : 382 Question Id : 21280731712 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ2
Fresforfiaa ol o famm +¢

(A) Teowe d vl wlesge 1w afgefta = @ @

(B) Terelt wfemge § wsll 21 61 uF e € SR @ g Al

(C)  rsd il o faffier & % feru wep ferd |ra NULL &1 S feran simen &
(D) Ue ey wree fafis war F Fer ot aifcre o wfiag o3 ) srafy &9 #)
H faw wu Taeredt § wet e gim

(1) % (A), (B) 3R (O)

(2) FaE (A), (B)

(3) Fa@ (A), (O), (D)

(4) F= (A), (B), (O) ¥ (D)

Options :
212807126845. 1
212807126846. 2

212807126847. 3
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212807126848. 4

Question Number : 383 Question Id : 21280731713 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ2
Match List - I with List - 1L
List - I
(A) Data Base Schema () Limitation on the type of data
(B) Data Constraint () Data about data
(C) Meta Data () State or snapshot of the database
(D) Database Instance {IV) Visual or logical architecture

Choose the correct answer from the options given below :

(1) A, B)-{0), (OIV), (D))
(2) (A1), (B)-(1), (O-(1V), (D)}-(I)
(3) (A1), (B)-(IV), (C}(D), (D)D)
(4)  (A)-V), B)-(I), (O)-(ID), (D)-(1)

Options :

212807126849. 1
212807126850. 2
212807126851. 3
212807126852. 4

Question Number : 383 Question Id : 21280731713 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ2

Telt-1 & -1 =1 figerr pifaa

-1

(A) 82t A9 Fermn () A % yHR H wfaa-

(B) BT HLR () =% ai § g

(C) WA () a9 9 Rl @ Soefe
(D) BIEW TEY (IV) &9 1 ofdheh et

i few sru faredi o 4 98 39 1 99 Sife .

(D A1), B)-0), (O-1V), (D)-(1)
(2)  (A)(D, (B)-(I), (O-(IV), (D)-(I)

(3)

Options :

212807126849. 1
212807126850. 2
212807126851. 3
212807126852. 4

)
(A)-(1D), (B)-(IV), (C)-(D), (D)-(IM)
(4)  (A)-IV), (B)-(I), (O-(ID, (D)-(1)

gcollegeduniag
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Question Number : 384 Question Id : 21280731714 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ2

The tuples within a relation must be

(1) Common

(2) Distinct
(3) Copy
(4) None
Options :

212807126853. 1
212807126854. 2
212807126855. 3
212807126856. 4

Question Number : 384 Question Id : 21280731714 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ2

e e & oy oo B anfe )
(1) wHEA

(2) fexi

(3) it

(4) 8 7
Options :

212807126853. 1
212807126854. 2
212807126855. 3
212807126856. 4

Question Number : 385 Question Id : 21280731715 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ2

Hard disk, SSD, CD/DVD, pendrive are examples of devices.
(1) Input

(2) Output

(3) Storage

(4) Volatile
Options :

212807126857. 1
212807126858. 2
212807126859. 3
212807126860. 4

s collegedunia:
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Question Number : 385 Question Id : 21280731715 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ2

are four, wauys), WEy/SETed, I gew Syl 6 Serw §
(1) ¥

(2) ey

(3) =

(4) e

Options :

212807126857. 1
212807126858. 2
212807126859. 3
212807126860. 4

Sub-Section Number : 2
Sub-Section Id : 2128072504
Question Shuffling Allowed : No

Is Section Default? : null

Question Number : 386 Question Id : 21280731716 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension Compl

-

s collegedunia:



Color =["Red’, ‘Green’, “Blue’, ‘Pink’, “Yellow’, ‘Magenta’, ‘Black’]
def longrolors ( , ) :

with

# Filllinel

: # Fillline2

: # Fillline3
: # Fillline4
: # Fillline>

fname = ‘Color.txt’

n=int(input(“Enter a number(4-7) "))

# filline6
file = open(fname)
print(file.read())

Complete code for Filllinel and Fillline6 so that Fillline6 invoke the longcolors functions by passing
two arguments filename and integer n.

(1) longcolors(“colors”, 5)

(2) def longcolors(“colors”, 5)

(3) def longcolors(n, frame):
longcolors(n, frame)

(4) def longcolors(frame, n)
longcolors(frame, n)

Options :

212807126861. 1
212807126862. 2
212807126863. 3
212807126864. 4

Question Number : 386 Question Id : 21280731716 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

Compl
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Color =["Red’, ‘Green’, “Blue’, ‘Pink’, “Yellow’, ‘Magenta’, ‘Black’]

def longcolors (_, ) : # Filllinel
with : # Fillline2

: # Fillline3

: # Fillline4

: # Fillline5

fname = ‘Color.txt’

n =int(input(“Enter a number(4-7) "))

# filline6
file = open(fname)
print(file.read())

Filllinel 3R Fillline6 ¥ fTT Y 18 %1 ¥ A Fillline6 S T SIF[FHZ %= filename 3R integer n

RICETED longcolors HaRT AR HEH |

(1) longcolors(“colors”, 5)

(2) def longcolors{“colors”, 5)

(3) def longcolors(n, frame):
longcolors(n, frame)

(4) def longcolors(frame, n)
longcolors(frame, n)

Options :

212807126861. 1
212807126862. 2
212807126863. 3
212807126864. 4

Question Number : 387 Question Id : 21280731717 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension Compl
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Color =["Red’, ‘Green’, “Blue’, ‘Pink’, “Yellow’, ‘Magenta’, ‘Black’]
def longcolors (_, ) : # Filllinel
with : # Fillline2
: # Fillline3
: # Fillline4
: # Fillline5
fname = ‘Color.txt’

n=int(input(“Enter a number(4-7) "))

# filline6
file = open(fname)
print(file.read())

Open the file for writing using a with statement in the file object namely myf.(fillline2)
(1) with open(frame, “w") as myf :

(2) with open(frame, “w”) as myfile :

(3) with open(frame) as myfile :

(4) with open(colors) as myfile :

Options :

212807126865. 1
212807126866. 2
212807126867. 3
212807126868. 4

Question Number : 387 Question Id : 21280731717 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension Compl
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Color =["Red’, ‘Green’, “Blue’, ‘Pink’, “Yellow’, ‘Magenta’, ‘Black’]
def longcolors (_, ) : # Filllinel
with : # Fillline2
: # Fillline3
: # Fillline4
: # Fillline5
fname = ‘Color.txt/

n =inf(input(“Enter a number(4-7) "))

# filline6
file = open(fname)
print(file.read())

TIEE SWSAFE AH myf (fillline2) § with %Y &1 0 &3 foraq & foe wiget det |
(1) with open(frame, “w”) as myf :

(2) with open(frame, “w”) as myfile :

(3) with open(frame) as myfile :

(4) with open(colors) as myfile :

Options :

212807126865. 1
212807126866. 2
212807126867. 3
212807126868. 4

Question Number : 388 Question Id : 21280731718 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension Compl
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Color =["Red’, ‘Green’, “Blue’, ‘Pink’, “Yellow’, ‘Magenta’, ‘Black’]
: # Filllinel
: # Fillline2
: # Fillline3
: # Fillline4
: # Fillline5

def longcolors ( , )
with

fname = ‘Color.txt’

n =int(input(“Enter a number(4-7) "))

# filline6
file = open{fname)
print(file.read())

Identify correct code for Fillline3 to create a loop so that each color is picked :

(1) for c in range(0, color) :
(2) forcincolor:
(3) Forcincolor:

(4) for ¢ in range(color)

Options :

212807126869. 1
212807126870. 2
212807126871. 3
212807126872. 4

Question Number : 388 Question Id : 21280731718 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension Compl

-
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Color =["Red’, ‘Green’, “Blue’, ‘Pink’, “Yellow’, ‘Magenta’, ‘Black’]
: # Filllinel
: # Fillline2
: # Fillline3
: # Fillline4
: # Fillline5

def longcolors ( , )
with

fname = “‘Color.txt’

n =int(input(“Enter a number(4-7) :"))

# filline6
file = open{fname)
print(file.read( ))

TS Y 991 & Toru Fillline3 % Tore &g ) ugdi ¢ % color g1 &1 6H:

(1) for c in range(0, color) :
(2) forcincolor:
(3) Forcincolor:

(4) for c in range(color)

Options :

212807126869. 1
212807126870. 2
212807126871. 3
212807126872. 4

Question Number : 389 Question Id : 21280731719 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension Compl

-
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Color =["Red’, ‘Green’, “Blue’, ‘Pink’, “Yellow’, ‘Magenta’, ‘Black’]
def longcolors ( , ) :

with

# Filllinel

+ # Fillline2

: # Fillline3
: # Fillline4
+ # Filllines

fname = ‘Color.txt’

n =int(input(“Enter a number(4-7) :”))

# filline6
file = open(fname)
print{file.read())

Inside the loop write code for Fillline4 and Filllineb so that only colors from the color list get written

in separate lines on the file that have word length more than n.

(1) iflen{c) >n
myf.write(c)
(2) iflen(c)> =n:

myfile.write{c + “\n’)

(3) iflen(c)>n:
myf.write(c +\n)

(4) iflen(c)>n:
myf.write(c)

Options :

212807126873. 1
212807126874. 2
212807126875. 3
212807126876. 4

Question Number : 389 Question Id : 21280731719 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

'Value

Comprehension

Compl
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Color =["Red’, ‘Green’, “Blue’, ‘Pink’, “Yellow’, ‘Magenta’, ‘Black’]

def longcolors (_, ) : # Filllinel
with : # Fillline2

: # Fillline3

: # Fillline4

: # Filllineb

fname = ‘Color.txt’

n =inf(input(“Enter a number(4-7) "))

# filline6
file = open{fname)
print(file.read())

U % A Fillline4 3R Filllines % fom g for@ afs color YAl § FFA color WEA T AT
aferi # forn sy et wsg g n @ I 3
(1) iflen(c) >n
myf.write(c)
(2) iflen(c)> =n:
myfile.write(c + "\n")
(3) iflen(c)>n:
myf.write(c +“\n’)
(4) iflen{c) >n:
myf.write(c)
Options :
212807126873. 1
212807126874. 2

212807126875. 3
212807126876. 4

Question Number : 390 Question Id : 21280731720 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension Compl
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Color =["Red’, ‘Green’, “Blue’, ‘Pink’, “Yellow’, ‘Magenta’, ‘Black’]

def longcolors (_, ) : # Filllinel
with : # Fillline2

: # Fillline3

: # Fillline4

: # Fillline>

fname = ‘Color.txt’

n =int(input(“Enter a number(4-7) :”))

# filline6
file = open(fname)
print{file.read())

What will be the output if the value of n is entered as 5 7

(1) Green
Black

(2) 4

(3) Green
Yellow
Magenta
Black

(4) Yellow
Magenta

Options :

212807126877. 1
212807126878. 2
212807126879. 3
212807126880. 4

Question Number : 390 Question Id : 21280731720 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension Compl
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Color =["Red’, ‘Green’, “Blue’, ‘Pink’, “Yellow’, ‘Magenta’, ‘Black’]
def longcolors (_, ) : # Filllinel
with : # Fillline2
: # Fillline3
: # Fillline4
: # Fillline5
fname = ‘Color.txt/
n =inf(input(“Enter a number(4-7) "))
# filline6
file = open{fname)
print(file.read( ))

& n'w HE 5% wF gsl o o @ smeeye @ g ?

(1) Green
Black

(2) 4

(3) Green
Yellow

Magenta
Black

(4) Yellow
Magenta

Options :

212807126877. 1

212807126878. 2

212807126879. 3

212807126880. 4

Sub-Section Number : 3
Sub-Section Id : 2128072505
Question Shuffling Allowed : No

Is Section Default? : null

Question Number : 391 Question Id : 21280731721 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension Comp2

-
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MAC address is a physical or hardware address is a unique value associated with a network
adapter called NIC. MAC address is a 12-drgit hexadecimal numbers shown as below :

FC:F8: AE:CE:78: 16.

IP address is a unique address that can be used to uniquely identify each node in network IPV,
address looks like :

192 : 168 : 0 : 175
Based on above paragraph answer following question.

In MAC address later six drgits represents :
(1) Unique Serial Number

(2) Organisaticnal Unique Identifier

(3) NIC address

(4) Host Serial Number

Options :

212807126881. 1
212807126882. 2
212807126883. 3
212807126884. 4

Question Number : 391 Question Id : 21280731721 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension Comp?2

o w2y w dlifers o1 HEa wFa ¥ o w ond A e A W ¥ qet uw s gou § O udw
W 12 sy el g § fad i feara v B
FC:F8: AE: CE:78: 16.

st wdw U S TSN ¢ Pewrer wwn A (v, ¥ H vdE e #i faftre w0 & v F fag
foom = e €
192 : 168 : 0 : 175

U 3T & MUR W Fefaiea wes =t s i

B uFH § g F ¥ 3l qular d

(1) Yfer Tafere Jaix

(2) sdrEESTEe i sTESafowia
(3) uendHt g

(4) er2 fafga Ha

Options :

212807126881. 1
212807126882. 2
212807126883. 3
212807126884. 4

Question Number : 392 Question Id : 21280731722 Question Type : MCQ Option Shuffling : No Is Question Mandaf & »

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
L4
s collegedunia:

-



Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension Comp2

MAC address is a physical or hardware address is a unique value associated with a network
adapter called NIC. MAC address is a 12-drgit hexadecimal numbers shown as below :

FC:F8: AE: CE:78: 16.

IP address is a unique address that can be used to uniquely identify each node in network IPV,
address looks like :

192 : 168 :0: 175

Based on above paragraph answer following question.

In MAC address first six-drgits represents :
(1) Unique Serial Number

(2) Organisaticnal Unique Identifier

(3) NIC address

{4) Host Serial Number

Options :

212807126885. 1
212807126886. 2
212807126887. 3
212807126888. 4

Question Number : 392 Question Id : 21280731722 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension Comp?2

B 129w rF T R wdE & S @ ond | E Yead ude § gEl uF oS ued § A% ugw
W 12 sty drenefaas dwen § fod i fearem v &1
FC:F8: AE: CE:78: 16.

st wdE u R v ¥ R wwei Yead 1pv, wdE F welw e w faftre v @ wear F fae
foor <1 g &
192 : 168 :0: 175

U 3FeE & IMUR W Frefafas uw &t sax difem

%@ﬁ@%%ﬁ?ﬁ%

(1) Yfer Tafere Jaix

(2) AT g StEgHfewiaR
(3) ueNdHl UF

(4) Bre fafaa dat

Options :
212807126885. 1
212807126886. 2

212807126887. 3
s collegedunia:
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212807126888. 4

Question Number : 393 Question Id : 21280731723 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension Comp?2

MAC address is a physical or hardware address is a unique value associated with a network
adapter called NIC. MAC address is a 12-drgit hexadecimal numbers shown as below :

FC:F8: AE:CE:78: 16.

IP address is a unique address that can be used to uniquely identify each node in network IPV,
address looks like :

192 : 168 : 0 : 175
Based on above paragraph answer following question.

What is the full form of MAC address ?
(1) Medra Access Control

(2) Medrum Access Control

(3) Mobile Access Control

{(4) Medrma Access Controller

Options :

212807126889. 1
212807126890. 2
212807126891. 3
212807126892. 4

Question Number : 393 Question Id : 21280731723 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension Comp?2

Ao udy w siifers o Hd¥aw wFa ¥ o w ond o e S wde  qet uw s ged § A% udy
W 12 sy el g & fad i feara v B
FC:F8: AE:CE: 78: 1sa.

it wdE U STyEl udW ¥ T s Fead 1PV, wgw A wols e @ fafire s @ vsa ¥ fag
Tt n wpen 2
192 :168 : 0: 175

IUATaR IFE o MR W FefaiEd us &l SaT S
B ugy F e W+ E?

(1) itfem e e

(2) wifers TR #e

(3) e TR e
)

(4) ifgu wrry Sder
gcollegeduniag
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Options :

212807126889. 1
212807126890. 2
212807126891. 3
212807126892. 4

Question Number : 394 Question Id : 21280731724 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

'Value

Comprehension

Comp2

MAC address is a physical or hardware address is a unique value associated with a network
adapter called NIC. MAC address is a 12-drgit hexadecimal numbers shown as below :

FC:F8: AE:CE: 78 : 1a.

IP address is a unique address that can be used to uniquely identify each node in network PV,

address looks like :
192 : 168 : 0: 175

Based on above paragraph answer following question.

How many bits in MAC and IP address have :

(1) 40, 32 bit
(2) 32, 48 bit
(3) 48, 32 bit
(4) 56, 32 bit

Options :

212807126893. 1
212807126894. 2
212807126895. 3
212807126896. 4

Question Number : 394 Question Id : 21280731724 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension Comp2

-
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He w2y w dlifos o G wFa ¥ o w ond A e A W qel uw s gou § A% udy
T 12 ey Taarefgns den & S i fearan v ¥
FC:F8: AE:CE: 78 16.

T wE u I uSH ¥ Fonrer sy Yead 1PV, wE F weliw e i faftre v F v % fag
e 0 ween

192 : 168 : 0: 175
U 3F5E & e W Frefafaa ww &t v ifem -

f oAy o) wka A e P 9 %

(1) 40, 32 faz
(2) 32, 48 faz
(3) 48, 32 fae
(4) 56, 32 faz
Options :

212807126893. 1
212807126894. 2
212807126895. 3
212807126896. 4

Question Number : 395 Question Id : 21280731725 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension Comp?2

MAC address is a physical or hardware address is a unique value associated with a network
adapter called NIC. MAC address is a 12-drgit hexadecimal numbers shown as below :

FC:F8: AE:CE: 78: 1ea.

IP address is a unique address that can be used to uniquely identify each node in network IPV,
address looks like :

192 : 168 : 0 : 175
Based on above paragraph answer following question.

Which of the following statement is false about IP address :

(1) Itis a Internet Protocol address

(2) IP address can change if a nede is removed from one network te other

(3) [P address is not a unique address

(4) We can communicate with the computer from anywhere if we know the IP address

Options :

212807126897. 1
212807126898. 2
212807126899. 3
212807126900. 4

Question Number : 395 Question Id : 21280731725 Question Type : MCQ Option Shuffling : No Is Question Mandaf & »

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
L4
s collegedunia:
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Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension Comp2

Heh UEH U shferh W SR wEW § S 0 o W R e e § S U 51 Yo § 0% uH
Weh 12 S vermefaaer g § T i fearm o )

FC:F8: AE:CE: 78 : 16.

anddt wda ue sret wdH ¥ Formen swet Jead 1PV, wdd H vl e # fafire v wgae ¥ fer
WWW’H‘[%:

192:168:0: 175

U 3F5E & e W Frefafaa ww &t v ifem -

anddy wda it F ¥ ur e T §

(1) o8 T 20 WRrHE 1dE §

(2) afk wE e w T Tead § R Tead @ e o o @ ondd v wwer wehd §
(3) omdd wGH uH g W A ¥

(4) PR EH ol ugH war B w9 e W off Hroe § HuR W §

Options :

212807126897. 1
212807126898. 2
212807126899. 3
212807126900. 4

Sub-Section Number : 4
Sub-Section Id : 2128072506
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 396 Question Id : 21280731726 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ3

If on applying a hash function, every items of a list maps to unique index in the hash table it is
called.

(1) Complete hash function
(2) Total hash function

(3) Remainder hash function
(4) Perfect hash function

Options :

212807126901. 1
212807126902. 2
212807126903. 3
212807126904. 4

Question Number : 396 Question Id : 21280731726 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
|Key Value °
s collegedunia:
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IComprehension IMCQ3 I
T B R R FA W, G % Yol ey f B9 arferest yfie €29 A Ay frm @i 8, @ 2@ @
e
(1) 9o B9 EEeE
(2) F T FEEE
(3) 9y q9 GEA
(4) uthE B e

Options :

212807126901. 1
212807126902. 2
212807126903. 3
212807126904. 4

Question Number : 397 Question Id : 21280731727 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ3

Consider a list [-2, 0, 3, 5, 9, 11, 13]. Apply binary search to find element —2. Determine the
number of key comparison required ?

(1n 2
2 3
(3) 4
4 1
Options :

212807126905. 1
212807126906. 2
212807126907. 3
212807126908. 4

Question Number : 397 Question Id : 21280731727 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ3

s gl [-2,0,3,5,9, 11, 13] W faar &1 o/ -2 @ioH % fow agsdl w1 o] £33 vg@ garmsi w1
e it Y2

1 2
(2 3
(3) 4
(4) 1
Options :

212807126905. 1
212807126906. 2
212807126907. 3
212807126908. 4

s collegedunia:

-



Question Number : 398 Question Id : 21280731728 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ3

Which of the following technique of searching compares every element of list where the list can be
in any order ?

(1) Binary search
{2) Linear search
(3) Heap search

(4) Hashing search

Options :

212807126909. 1
212807126910. 2
212807126911. 3
212807126912. 4

Question Number : 398 Question Id : 21280731728 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ3

drst i Frer 4 2 O qete gt F vk de ) gern st § el g fedt o s A & wwdt R4
(1) =T aE

(2) v Ed

(3) feuud

(4) hmwd

Options :

212807126909. 1
212807126910. 2
212807126911. 3
212807126912. 4

Question Number : 399 Question Id : 21280731729 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ3

s collegedunia:
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Match List - T with List - IL

List -1 List - II
(A) Mean (Il Average of given values
(B) Median (I Mid value when data are sorted in ascending/ descending order
(C) Mode (IlT) Data value that appears most number of times
(D) Range (IV) Itis the difference between the maximum and minimum values

Choose the correct answer from the options given below :
1) (A)-V), B-D), (O-(1D), (D))

2)  (AHD), BHIV), (OAID, (D))

(3) (A0, B)-ID), (O, (DHIV)

(4)  (A)-D), B, (OAID, (DHIV)

;)12281;?2:6913. I

212807126914, 2

212807126915. 3
212807126916. 4

Question Number : 399 Question Id : 21280731729 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key 'Value
Comprehension MCQ3

Teit-1 § GEl-11 &1 foere Hifaa
-1 Teil-11

(A) H™A O R ae = st

(B) wrferrant () A=A 59 8 Sdayada e § Wi e s @
(C) wgTH (D) T A S qd sifere o wepe dan ¥

(D) " (V) o sifrpey ofr =Ty gedt ¥ oty el }

e feu o fawedi § Q4 W@ 9 & 9uH Hife
(1) (A)IV), (B)~(I), (O~(1D), (D)~(III)

)
(2) (A, (B)-(IV), (O-(ID), (D))
(3)  (A)MD), (B)-(UI), (O-(ID), (DHIV)
(4)  (A)ND), (B)}-(I), (OHAIII), (D)IV)

Options :

212807126913. 1
212807126914. 2
212807126915. 3
212807126916. 4

Question Number : 400 Question Id : 21280731730 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ3

gcollegeduniag
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Standard dewviation is :

(1)
(2)
(3)
(4)

Options :

the positive square of average of squared difference of each value from the mean.

the positive square root of the average of squared difference of each value from the mean.

the square root of the average of each value from the mean.

the square of the average of each value from the mean.

212807126917. 1
212807126918. 2
212807126919. 3
212807126920. 4

Question Number : 400 Question Id : 21280731730 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ3

A forae §

(1) e |y 9F & 9 ofeqt & offw 1w i

(2)
(3)
(4)

Options :

ey § g o w7 i F ol uedss avige
et ¥ YeEhE W F ofad i
e § were wH F ofad

212807126917. 1
212807126918. 2
212807126919. 3
212807126920. 4

Informatics Practices

Section Id : 212807870
Section Number : 3

Section type : Online
Mandatory or Optional : Optional
Number of Questions : 35
Number of Questions to be attempted : 25

Section Marks : 125
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 2128072507
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 401 Question Id : 21280731731 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ4

-

s collegedunia:



What will be the output for the following code ?
SELECT ROUND(566.232, - 2);

(1) 500.0

(2) 566.0

(3) 56.6232

(4) 600.0
Options :

212807126921. 1
212807126922. 2
212807126923. 3
212807126924. 4

Question Number : 401 Question Id : 21280731731 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ4

Frerfiafiaa =irs 1 swseye 0 g ?
SELECT ROUND(566.232, — 2);
(1) 500.0

(2) 566.0

(3) 56.6232

(4) 600.0

Options :

212807126921. 1
212807126922. 2
212807126923. 3
212807126924. 4

Question Number : 402 Question Id : 21280731732 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ4

Which of the following functions is not an aggregate function ?
(1) ROUND()

(2) SUMY()
(3) COUNT()
(4) AVG()

212807126925. 1
212807126926. 2
212807126927. 3
212807126928. 4

Question Number : 402 Question Id : 21280731732 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

s collegedunia:
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Question Key Details :

Key Value
Comprehension MCQ4

Frerfafad 4 § 9 @1 v U it dwe T8 §
(1) ROUND()

() SUM()
(3) COUNT()
(4) AVG()

212807126925. 1
212807126926. 2
212807126927. 3
212807126928. 4

Question Number : 403 Question Id : 21280731733 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ4

If Table T1 has 10 records and Table T2 has 20 records what will be the cardinality of T1xT2
(Cartesian product of two tables).

(1) 10
(2) 20
(3) 30
(4) 200
Options :

212807126929. 1
212807126930. 2
212807126931. 3
212807126932. 4

Question Number : 403 Question Id : 21280731733 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ4

fe wferst T1 % urg 10 fenfe ot arferst T2 3 wre 20 Repfd &t T1 x T2 Y wifafadt = dnft) (&
HITERRT T LS WEHR)

(1 10
(2) 20
(3) 30
(4) 200
Options :

212807126929. 1
212807126930. 2
212807126931. 3
212807126932. 4

s collegedunia:
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Question Number : 404 Question Id : 21280731734 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ4

Union, intersection and minus can be applied between two tables if :

(1) They have same cardinality.

(2) They have same degree with any type of data in each table.

(3) They have same same degree and cardinality.

(4) They have same degree and corresponding attributes have same domain.

Options :

212807126933. 1
212807126934. 2
212807126935. 3
212807126936. 4

Question Number : 404 Question Id : 21280731734 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ4

g, deeldee o g R & afeedl ¥ e o e st g & 4
(1) o or| gaM FEAfad §

(2) % ww veds oot & fedt off wer ¥ ¥ & we wan fait 2
(3) % oy Tl i wmfdAfad) &1

(4) &%y € Tault & ofit weifum wfesgea w v @ 9dw 1

Options :

212807126933. 1
212807126934. 2
212807126935. 3
212807126936. 4

Question Number : 405 Question Id : 21280731735 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ4

s collegedunia:
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Which of the following statements is correct about Dataframe ?
(A) Dataframe is size-mutable

(B) Dataframe is values-mutable

(C) Dataframe is immutable

(D) Dataframe is capable of holding multiple types of Data.
(E) Dataframe has no columns.

Choose the correct answer from the options given below :

(1) (A), (B) and (E) only
(2) (A), (B) and (D) only
(3) (A), (B) and (C) only
(4) (A), (D) and (E) only

Options :

212807126937. 1
212807126938. 2
212807126939. 3
212807126940. 4

Question Number : 405 Question Id : 21280731735 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ4

Fretferfad § & 9 a1 o erha & an § wdi 32
(A) TRy w1 SERR-Rada &
(B) ¥erhy =i ur aRadi ¥

(C) Eetrn snafadig §

(D) Terrm &¢ yR F T @ F wam 1

(B) SRy % urg s siery e 1
g few e faswedi 9§ & W@ s g

(1) aet (A), (B) 3 (E)
(2) e (A), (B) ¥R (D)
(3) & (A), (B) ¥R (O)
() Fae (A), (D) 3R (E)

212807126939. 3
212807126940. 4

Question Number : 406 Question Id : 21280731736 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ4

1

gcollegeduniag

-



Choose the correct statement to display the standard deviation of the values of a Dataframe named
df :

(1) df.standard()
(2) df.std_dev()
(3) df.std.dev()
(4) df.std()

Options :

212807126941. 1
212807126942. 2
212807126943. 3
212807126944. 4

Question Number : 406 Question Id : 21280731736 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ4

df A SRR & AT & A oo A el w3 % fau w8 s F1 991 w5
(1) df.standard()

(2) df.std_dev()

(3) df.std.dev()

(4) df.std()

Options :

212807126941. 1
212807126942. 2
212807126943. 3
212807126944. 4

Question Number : 407 Question Id : 21280731737 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ4

Choose the correct statement to display the median using quantile function if the name of the
Dataframe is df :

(1) df.quantile()

(2) df.quantile(q=.25)

(3) df.quantile(q=.75)

(4) df.quantile(q=median)

Options :

212807126945. 1
212807126946. 2
212807126947. 3
212807126948. 4

Question Number : 407 Question Id : 21280731737 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

s collegedunia:
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Key Value

Comprehension MCQ4

Tf S2RH H M df €, T FIRES HEE w1 I W i et 6 % e wd s

(1)
2
3)
(4)
Options :
212807126945. 1
212807126946. 2

212807126947. 3
212807126948. 4

df.quantile( )
df.quantile{q=.25)
df.quantile(q=.75)
df.quantile(q = median)

Question Number : 408 Question Id : 21280731738 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

No Calculator : None

Question Key Details :
Key Value
Comprehension MCQ4

Rohit wants to display the descriptive statistical values in a dataframe named
command. Help him to choose the correct one from the following options.

(1) df.std()

(2) df.standard()

(3) df.describe({)

(4) df.stddev()
Options :

212807126949. 1
212807126950. 2
212807126951. 3
212807126952. 4

Question Number : 408 Question Id : 21280731738 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

‘df’ using a single

No Calculator : None

Question Key Details :
Key Value
Comprehension MCQ4

Afga wofreas diersia A9 9 U $UI18 1 IERT S A TS STRRY § yeldfa e Ted B

Freafrfiga fosedl o @ wdt frsey 99§ 391 HEE

(1) df.std()

(2) df.standard()

(3) df.describe()

(4) df.stddev()
Options :

212807126949. 1
212807126950. 2
212807126951. 3
212807126952. 4

Question Number : 409 Question Id : 21280731739 Question Type : MCQ Option Shuffling : No Is Question Mandar
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

-

s collegedunia:



Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ4

A box and whisker plot summarizes following important data descriptors.
(1) Quartile 1, but not Quartile 2, Median, Quartile 4 and maximum value
(2) Minimum value, quartile 1, median, quartile 3, maximum value

(3) Minimum value, maximum value, but not median

(4) Only outliers

Options :

212807126953. 1
212807126954. 2
212807126955. 3
212807126956. 4

Question Number : 409 Question Id : 21280731739 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ4

e Hi iR fegwnt wife Fretfarfian waeapt e fyawn 1 wivhm @ 3
(1) =anelfzer 1, afwe Farefzer 2 =, mitae, gariza 4 o) sifuman wm
(2) AT W, Fareiger 1, ity sardger 3, sifusan 9

(3) =gEw A, stfsmen uH, SfeT wivrn 8

(4) FIA ST

Options :

212807126953. 1
212807126954. 2
212807126955. 3
212807126956. 4

Question Number : 410 Question Id : 21280731740 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ4

-

s collegedunia:



Arrange the following statements to create a bar chart :
(A) import matplotlib.pyplot as plt
{(B) y=[50, 60, 70]
(C) pleplot{x, y)

plt.show()
(D) pltbar(x, v)

plt.show()
() x=[Mon’, Tue’, " Wed’']
Choose the correct answer from the options given below :
(1 (&), E) B), (D)
2 (A) E). B) ©
(3) (&) B),©) D)
(4) (&) (B) (E), ©

Options :

212807126957. 1
212807126958. 2
212807126959. 3
212807126960. 4

Question Number : 410 Question Id : 21280731740 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ4

R He WM % T Fetfefid weel ot orafied =
(A) import matplotlib.pyplot as plt

(B) y=[50, 60, 70]

(C) pleplot(x, y)

plt.show()
(D) pltbar(x, y)
plt.show()
() x=[Mor', Tue’, " Wed’]
frreferfia ferspedi 3 W&l Sar w1 g &
M (A) ), B), (D)
(2) (A E) B) ©
3 (&) B ©. D)
(4) (&) (B) (E), ©
Options :

212807126957. 1
212807126958. 2
212807126959. 3
212807126960. 4

Question Number : 411 Question Id : 21280731741 Question Type : MCQ Option Shuffling : No Is Question Mandatorv : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

s collegedunia:

-



Question Key Details :

Key 'Value
Comprehension MCQ4

Study the statements linked to the plotting graph using matplotlib.

A) plot() function is used to create a line chart
B) show() function display graph on screen

J

(

(

(C) xlabel() is used to given label for x axis
(D) vy axis() is used to give label for i axis

(

E) matplotlib.pyplot library is to be imported for graphs
Choose the correct answer from the options given below :

(1) (A), (B), (©), (D) and (E)

(2)  (A) (B), (C) and (D)
(3) (A) (B), (D) and (E)
(4)  (A), (B), (C) and (E)
Options :

212807126961. 1
212807126962. 2
212807126963. 3
212807126964. 4

Question Number : 411 Question Id : 21280731741 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key 'Value
Comprehension MCQ4

matplotlib T IULRT FEh ST TE § TS H A 4T 1 |

(A) plot() SFe Sl IWHT ARA O w9F & o e s ¥

(B) show() WeheI BRI W U wefdfe et &

(C) x label() 1 TN x 319 & for few wu Faet & o e smar 8
(

(

D) v axis() S 30 y 1% % forw few 0 Gaet & forg formn wan
E) matplotﬁb.pyplotﬁﬁﬁﬁﬂﬁ%%ﬁ?ﬁ?ﬂﬁémﬂfﬁ[%

ey feu o T H W Soort =t A Y
(1) (A), (B), (C), (D) 3 (E)

(2) (A), (B), (C) ¥R (D)

(3) (A) (B), (D) R (E)

(4)  (A), (B), (C) 3 (E)

212807126961. 1
212807126962. 2
212807126963. 3
212807126964. 4

Question Number : 412 Question Id : 21280731742 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks 5 'Wrong Marks :' 1 . ‘
s collegedunia:

-



Question Key Details :

Key

'Value

Comprehension

MCQ4

What inference can you make out of the following code ?

plt.plot(x, v)
plt.plot(x, z)

pltlegend(loc = “upper left”)

(1) Line graph with legend will be plotted
(2) Line graph with legend will not print
(3) Line graph will only be printed/plotted

{(4) Only legend will be seen

Options :

212807126965. 1
212807126966. 2
212807126967. 3
212807126968. 4

Question Number : 412 Question Id : 21280731742 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ4

faefafigd e 4 379 Y9 A1 Z20E O g 8 ?

plt.plot(x, v)
plt.plot(x, z)

pltlegend(loc = “upper left”)

(1) ofSIE % WY o Wk wie R s
(2) eftsie & Wy o e e T8 §m
(3) aEF Ukt fiferwefte R s

(4) Fae wiors feard &mi

Options :

212807126965. 1
212807126966. 2
212807126967. 3
212807126968. 4

Question Number : 413 Question Id : 21280731743 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ4

-

s collegedunia:



Which of the following is not a browser ?

(1) wWww
(2) Google chrome
(3) Opera
(4) UC
Options :

212807126969. 1
212807126970. 2
212807126971. 3
212807126972. 4

Question Number : 413 Question Id : 21280731743 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ4
Freq H % W s SES e 8 ?
(1) WWwWW
(2) Google chrome
(3) Opera
@) UC
Options :

212807126969. 1
212807126970. 2
212807126971. 3
212807126972. 4

Question Number : 414 Question Id : 21280731744 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ4

Electronic mail cannot be used for
(1) Sending documents

(2) Sending bulk data

(3) Sending attachments

(4) Sending messages

Options :

212807126973. 1
212807126974. 2
212807126975. 3
212807126976. 4

Question Number : 414 Question Id : 21280731744 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value |
Comprehension MCQ4

s collegedunia:
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W ddawm swdn_ % foaw wdf T s wedn
(1) QEEs A

(2) o T TS

(3) HAIE TS

(4) HI9 TS

Options :

212807126973. 1
212807126974. 2
212807126975. 3
212807126976. 4

Question Number : 415 Question Id : 21280731745 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ4

Besides routing data packets, also maintain information about the host network’s
internal connection paths and the identified paths of other remote networks.

(1) Hub

{2) Switch
(3) Bridge
(4) Gateway

Options :

212807126977. 1
212807126978. 2
212807126979. 3
212807126980. 4
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Which waves having frequency range of 300 GHz—400 THz ?
(1) Radio wave

(2) Micro wave

(3) Light wave

(4) Infrared wave

Options :

212807126981. 1
212807126982. 2
212807126983. 3
212807126984. 4
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212807126981. 1
212807126982. 2
212807126983. 3
212807126984. 4
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The five characteristics of wired Transmission media are listed below. Which of them is/are
applicable for Twisted pair cable ?

{(A) They carry data as light

(B) They are best suited to carry signals of higher frequencies to a longer distance
{C) Most commonly used in telephone lines and LANs

(D) They are comparatively expensive

(E) The cables appears like DNA helical structure

Choose the correct answer from the options given below :

(1) (A)and (D) only

(2) (B)and (D) only

(3) (C) and (E) only

(4) (A)and (B) only

Options :

212807126985. 1
212807126986. 2
212807126987. 3
212807126988. 4

Question Number : 417 Question Id : 21280731747 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
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212807126985. 1

212807126986. 2

212807126987. 3
212807126988. 4
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In an optical fibre, the inner core is the cladding,

(1) more dense than
(2) the same density as
(3) less dense than

(4) another name for

Options :

212807126989. 1
212807126990. 2
212807126991. 3
212807126992. 4
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212807126989. 1
212807126990. 2
212807126991. 3
212807126992. 4
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What is a stand alone computer system ?

(1) Itis a computer system with internet connectivity
(2) Itisa server

(3) Itis a computer with any networking

(4) Itisaclient

Options :

212807126993. 1
212807126994. 2
212807126995. 3
212807126996. 4
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How many maximum communicating devices are allowed to build a personal area network in
Bluetooth technology ?

(1) 31
(2) 63
(3) 127
(4) 255
Options :

212807126997. 1
212807126998. 2
212807126999. 3
212807127000. 4
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(4) 255
Options :
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212807126998. 2
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Consider the following series :
SeriesA = pd.series([1, 2, 3, 4, B], index=["a", ‘Y, ¢, 'd’, "e’])
SeriesB = pd.series([10, 20, —10, —50, —100], index=["Z’, 'y, “a’, ’c’, "¢’])

SeriesA SeriesB
a 1 z 10
b 2 i 20
C 3 a —-10
d 4 C —30
e 5 e —-100

Based on the above paragraph answer the following questions :

Find the output of : SeriesA + SeriesB

() a -9.0
b NaN
C —-47.0
d NaN
e 105.0

(2) a -9.0
b NaN
C —-47.0
d NaN
e —-93.0
y NaN
z NaN

(3) a -9.0
b NaN
C —47.0
d NaN
e 105.0
y NaN
z NaN

(4) Addition is not possible as index of both the series are different

Options :
212807127001. 1

212807127002. 2
212807127003. 3
212807127004. 4
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Trerfafaa gaa W e+t
SeriesA = pd.series([1, 2, 3, 4, 3], index=["a", ‘b, ’c, 'd’, "e’])
SeriesB = pd.series([10, 20, —10, —50, —100], index=["Z, 'y, ‘&', °c’, "¢’])

SeriesA

SeriesB
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Options :

212807127001. 1
212807127002. 2
212807127003. 3
212807127004. 4

-9.0
NaN
—47.0
NaN
105.0
-9.0
NaN
—47.0
NaN
—-65.0
NaN
NaN
-6.0
NaN
—47.0
NaN
105.0
NaN
NaN

T T - T

10
20
- 10
=50
—-100
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Consider the following series :

SeriesA =pd.series([1, 2, 3, 4, 5], index=[a", 'V, °c, ‘", ‘¢'])
SeriesB = pd.series([10, 20, —10, —50, —100], index=[z", "y, ‘a’, "¢, "¢'])

SeriesA SeriesB
a i z 10
b 2 y 20
C 3 a -10
d 4 < 50
e 5 e —100

Based on the above paragraph answer the following questions :

Identify the correct o/p for:

SeriesA.add(seriesB, fill_value =0)

(1) a -9
b 2
C ~—47
d 4
e 105
¥ 20
z 10
{2) a -9
b 2
C —-47
d 4
e 105
(3 a —2.0
b 2.0
o —47.0
d 4.0
e —-55.0
] 20.0
z 10.0
4 a -9.0
b 2.0
C ~47.0
d 4.0
e 105.0
Options :

212807127005. 1
212807127006. 2
212807127007. 3
212807127008. 4
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SeriesA = pd.series([1, 2, 3, 4, 5], index=["a’, V', ¢/, “d’, ¢’])
SeriesB = pd.series([10, 20, —10, =50, —100], index=[z", "y,

SeriesA

CJN =V ST = A

[ T SN 6% T %

SUATER 3TTeE o MU W Frafafas v & 3ot it

SeriesB
z i0
y 20
a —10
C =50
e —100

SeriesA.add({seriesB, fill value =0)

TEI AR Y TETH L
(1) a -9
b 2
C - 47
d 4
e 105
] 20
z 10
{(2) a -9
b 2
C —47
d 4
e 105
{3) a -9.0
b 2.0
< —47.0
d 4.0
e —-95.0
¥ 20.0
z 10.0
{4) a -9.0
b 2.0
C —47.0
d 4.0
e 105.0
Options :

212807127005. 1
212807127006. 2
212807127007. 3
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212807127008. 4
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Consider the following series :
SeriesA = pd.series([1, 2, 3, 4, 5], index=["a’, ‘b, ', ‘d’, "e’])
SeriesB = pd.series([10, 20, —10, —50, —100], index=["Z, 'y, ‘&', °c’, "¢’])

SeriesA SeriesB
a 1 z 10
b 2 y 20
c 3 a -10
d 4 C -50
e 5 e - 100

Based on the above paragraph answer the following questions :

Identify the incorrect code statement to do some operations on two series :
(1) seriesA.sub(seriesB, fill value =1000)

(2) seriesA/seriesB

(3) seriesA*seriesB

(4) seriesA multiply(seriesB, fill values =NaN)

Options :

212807127009. 1
212807127010. 2
212807127011. 3
212807127012. 4
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Fretfafaa gaa W foEr +:t
SeriesA = pd.series([1, 2, 3, 4, 5], index=[a", 'V, ’c, ‘d’, €])
SeriesB = pd.series([10, 20, —10, =50, —100], index=[Z’, 'y, “a’, ¢, “¢’])

SeriesA SeriesB
a 1 z 10
b 2 y 20
¢ 3 a -10
d 4 C -30
e 5 e —-100

IR 3Fwse & ITUR W Frefafaa ue &1 S difg
& JEdrRl W Fo g $@ F Fa worm Hte o 1 ugdH S

(1) seriesA.sub(seriesB, fill _value =1000)

(2) seriesA/seriesB

(3) seriesA*seriesB

(4) seriesA.multiply(seriesB, fill values = NaN)
Options :

212807127009. 1
212807127010. 2
212807127011. 3
212807127012. 4
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Consider the following series :
SeriesA = pd.series([1, 2, 3, 4, 5], index=["a", 'V, ¢, ‘d’, “¢'])
SeriesB = pd.series([10, 20, —10, —50, —100], index=[Z’, 'y,

SeriesA

T RN oo

H 2 N =

5

SeriesB
z 10
y 20
a -10
C -50
e —-100

F f’ F I’ t’ef])

a, C

Based on the above paragraph answer the following questions :

Identify the correct code statement to get the output :

—-10.0
0.0
-150.0
0.0

- 500.0
0.0

0.0

NS oM D

1

p— p——

G

(4) seriesA.sub(seriesB, fill_value =0)

Options :

212807127013. 1
212807127014. 2
212807127015. 3
212807127016. 4

)
2) seriesA*seriesB
) seriesA/seriesB

seriesA.mul(seriesB, fill value=10)
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SeriesA = pd.series([1, 2, 3, 4, 3], index=[a", V', ’¢, ‘d’, €])
SeriesB = pd.series([10, 20, —10, —50, —100], index=["2’, 'y, ‘a’, 'c’, "¢’])

SeriesA

o AN g
Gl o N =
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a —-10.0

b 0.0

c —150.0

d 0.0

e —500.0

y 0.0

z 0.0

(1) seriesA.mul(seriesB, fill value=10)

(2) seriesA*seriesB

(3) seriesA/seriesB

(4) seriesA.sub(seriesB, fill value=0)
Options :

212807127013. 1
212807127014. 2
212807127015. 3
212807127016. 4

SeriesB
z 10
i 20
a -10
C -350
e —100
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Consider the following series :
SeriesA = pd.series([1, 2, 3, 4, 5], index=[a", 'V, ', ‘d’, €])
SeriesB = pd.series([10, 20, —10, —50, —100], index=[2’, 'y,

SeriesA

LU =" o T S -

= 2 N =

5

SeriesB
z 10
y 20
a -10
C -0
e —100

a’, ', ‘e

Iftl{f)

Based on the above paragraph answer the following questions :

Identify the correct statement in relation to mathematical operations on series :

(1) If the index of seriesA is not matched with index of seriesB, addition not possible.

(2) While performing operations on series, index matching is implemented and all missing values

are filled in with NaN by default.

(3) add() function does not allow explicit specification of the fill value for any element in seriesA
or seriesB that might be missing.

(4) Multiplication and division are not possible with missing values.

Options :

212807127017. 1
212807127018. 2
212807127019. 3
212807127020. 4
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SeriesA = pd.series([1, 2, 3, 4, 3], index=[a", V', ’c, ‘d’, €'])
SeriesB = pd.series([10, 20, —10, —50, —100], index=[2’, 'y, “a’, 'c’, "¢’])

SeriesA

o AN g
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SeriesB
z 10
i 20
a -10
C -350
e —100
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Options :

212807127017. 1
212807127018. 2
212807127019. 3
212807127020. 4
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Read the passage carefully and answer the question based on the passage :

In the current digital era we are familiar with different kinds of social media. These are the websites
that enable users to participate in social networking by creating and sharing contents with others
in the community. In this way users can interact with others online users of those social media
apps. There are certain etiquettes which need to be followed on social media too, because whenever
we surf the internet we leave a trail of the activities we perform online. When the computer and
network is used as a tool to perform criminal activities or offences can be considered as cyber crime
like hacking, phishing, spamming. We should be careful as excessive usage of digital devices has a

negative impact on our physical as well as psychological well being.

A responsible netizen must abide by

(A) Net etiquettes

(B) Shopping etiquettes

(C) Communication etiquettes
(D) Social media etiquetfes

Cheose the correct answer from the options given below :

(1) (A), (B) and (C) only

(2) (A), () and (D) only

(3) (A, (B), (O) and (D) only
(4) (A)and (C) only

Options :

212807127021. 1
212807127022. 2
212807127023. 3
212807127024. 4
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212807127021. 1
212807127022.2
212807127023. 3
212807127024. 4
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Read the passage carefully and answer the question based on the passage :

In the current digital era we are familiar with different kinds of social media. These are the websites
that enable users to participate in social networking by creating and sharing contents with others
in the community. In this way users can interact with others online users of those social media
apps. There are certain etiquettes which need to be followed on social media too, because whenever
we surf the internet we leave a trail of the activities we perform online. When the computer and
network is used as a tool to perform criminal activities or offences can be considered as cyber crime
like hacking, phishing, spamming. We should be careful as excessive usage of digital devices has a
negative impact on our physical as well as psychological well being.

Whenever we surf the internet using smartphone or computer, we leave a trail of data reflecting
the activities performed by us online. This is our.

(1) Digital footprint
(2) Digital handprint
(3) Offline footprint
(4) Online footprint

Options :

212807127025. 1
212807127026. 2
212807127027. 3
212807127028. 4
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212807127028. 4
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Read the passage carefully and answer the question based on the passage :

In the current digital era we are familiar with different kinds of social media. These are the websites
that enable users to participate in social networking by creating and sharing contents with others
in the community. In this way users can interact with others online users of those social media
apps. There are certain etiquettes which need to be followed on social media too, because whenever
we surf the internet we leave a trail of the activities we perform online. When the computer and
network is used as a tool to perform criminal activities or offences can be considered as cyber crime
like hacking, phishing, spamming. We should be careful as excessive usage of digital devices has a

negative impact on our physical as well as psychological well being.

Which of the following is not the correct social media etiquettes ?

(1) Choose password wisely

(2) Know who you be friend with

(3) Upload anything on social media

(4) Beware of fake information

Options :
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Read the passage carefully and answer the question based on the passage :

In the current digital era we are familiar with different kinds of social media. These are the websites
that enable users to participate in social networking by creating and sharing contents with others
in the community. In this way users can interact with others online users of those social media
apps. There are certain etiquettes which need to be followed on social media too, because whenever
we surf the internet we leave a trail of the activities we perform online. When the computer and
network is used as a tool to perform criminal activities or offences can be considered as cyber crime
like hacking, phishing, spamming. We should be careful as excessive usage of digital devices has a
negative impact on our physical as well as psychological well being.

If a hacker uses its knowledge to find and help in fixing the security flows in the system, it is
termed as

(1) White hat hacker
(2) Yellow hat hacker
(3) Green hat hacker
(4) Black hat hacker

Options :
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Read the passage carefully and answer the question based on the passage :

In the current digital era we are familiar with different kinds of social media. These are the websites
that enable users to participate in social networking by creating and sharing contents with others
in the community. In this way users can interact with others online users of those social media
apps. There are certain etiquettes which need to be followed on social media too, because whenever
we surf the internet we leave a trail of the activities we perform online. When the computer and
network is used as a tool to perform criminal activities or offences can be considered as cyber crime
like hacking, phishing, spamming. We should be careful as excessive usage of digital devices has a
negative impact on our physical as well as psychological well being.

Ergonomics is related to :
(1) E-waste

(2) E-mails

(3) Cyber crimes

(4) Health concerns
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Which of the following function will display the average of each row of a dataframe named df ?
(1) df.mean()

(2) dfmean(axis=1)

(3) df.mean(axis=70)

(4) dfmean(AXIS=0)

Options :
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(1) df.mean()
(2) dfmean(axis=1)
(3) df.mean(axis=0)
(4) dfmean{AXIS=0)
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Consider an example(s) :

A persen is listening into the transmissions on a LAN between two workstations or tuning into
transmissions between a wireless handset and a base station.

The above situation(s) is the example of :
(1) Spam

(2) Denial of service attacks

(3) Snooping

(4) Eavesdropping
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Nimish has stolen a credit card. He has used the card at petrol pump for fuel refilling in his car
what type of offence it is :

(1) Cyber fraud
(2) Hacking

(3) Phishing

(4) Spamming
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Match List - I with List - IL

List - I List - I1

(A) Phishing () Code redirects user to fake website without user knowing

(B) Spyware (I) Alters or deletes data

(C) Pharming (III) Fake email replicates well known organization

(D) Viruses (IV) Monitors information by monitoring key presses on a user’s keyboard

Choose the correct answer from the options given below :
(1) (&), B)-(IV), (O-[0), (D)

(2)  (A)-V), (B, (O-(ID), (D)-(0)

(3) (AN, B)-O), (O, (D)-(V)

(49) (A0, B-IO), (O-1V), (D)D)
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(2)  (A)-IV), (B)-(11D), {O)-(ID), (D)~(D)
(3) (A, (B)-(D), (OIID, (D)-(IV)
(4) (A, (BRI, (O«(1V), (D))
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Methods of Malware identification used by Antivirus is ?
{1) Network Propagation
(2) Spam Email

(3) Adware
(4) Heuristics
Options :
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The following are features of flexible exchange rate system select the correct option.

(A) Give more flexibility to government.

(B) Restricts countries in conducting monetary policies.
(C) Government intervenes to comes gaps in BOP.

(D) Automatically takes care of surplus and deficit in BOP.
(E) Speculator attack on currency.

Choose the correct answer from the options given below :
(1) (A)and (B) only

(2) (A)and (D) only

(3) (C) and (D) only

(4) (D) and (E) only
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